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Recap i We introduced grongs 6-setsul associative

"multiplication", identity element, inverses

Exi Bravars lattice T- &E ,+mep+Estr,Olimeriae
- closed under it

>

-identity : O = &E, +OE + &+



·

inverses (nithtitl"-f)E+fut
is a group

HC6 is a subgroupifIt is a group and His
a subset of 6 Ha- Eng , hel
6 = HUHg ,Ulg... UHgn-

n = /6 : H) is called

the ind of Hin G

Define Conjugation by 9 , 66













6 = HU(Hai)Uttai) (6 : H) =3

(H) + (Htai): Itay H + H = H

He (H +zai) = H7Zai

(Head +( + ai) = H +Zai
(Hai) + (H+2aX) = H + 3ai = I
Citat (Hai) : H + tay : H + ay

H -[0]
Hay -[I)






















